	
	       



Arithmetic Sample Assessment 
Attempt these questions without a calculator.

A.   WHOLE NUMBERS
	1. 
	Arrange the following numbers from smallest to largest:       1225, 1235, 1153, 1523



	2. 
	Round 115,629.681 to the nearest 


	
	a) thousand                                    


	b)  tenth

	3. 
	Perform the following operations:


	

	
	a)    25,689 + 112,984


	b)  90,124 – 61,867
	c)   514 × 26

	
	d)   10,478 ÷ 26 


	e)    
[image: image1.wmf]3

4


	f)   
[image: image2.wmf]2

240010

¸




	
	g)    
[image: image3.wmf]1023

-´


	h)  
[image: image4.wmf]3

3(13)2

´++



	i)   
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	j)   
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	k)  
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	m)  
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	n)  
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	p)  
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	q)   
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	r)  
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	4. 
	Reduce 
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to lowest terms



	5. 
	Write  
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  and 
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  as fractions with the same denominator


	6. 
	Convert  
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 to an improper fraction



	7. 
	Convert 0.6 to a fraction written in lowest terms


	8. 
	Solve   
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	9. 
	Write 45% as a decimal



	10. 
	Write 
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 as a decimal


	11. 
	What is 18% of  40


	12. 
	In a box of 24 doughnuts 15 were chocolate. What 



	13. 
	a)  fraction were chocolate?
	b)  percent were NOT chocolate?




Answers

	1. 
	15


	2. 
	1153, 1225, 1235,1523



	3. 
	 116,000 



	4. 
	
	

	
	a)   138,673
	b)  28,257
	c)   13,364


	
	d)   403

	e)    64
	f)   24



	
	g)    4
	h)  20


	i)   5

	
	j)  
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  or  
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	k)  
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	m)  3
	n)  22.05
	o)  37.77



	
	p)   16.92
	q)  6.35
	r)   7.76



	5. 
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	6. 
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	7. 
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	8. 
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	9. 3.6
	10. 0.45


	11. 
	0.375
	12. 7.2
	13. a)   
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        b)  37.5%
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